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A per
#[R(A) EBP(0) +1))] -oinf sup

um

Y

where I = I probability distributors for

7 = 188 +2 <-,n)]
*

This expression is
,

in turn
,

lower becused by

su FIRJA)))] --

PEPGauss Y

abyoithta
where DGrusion = SiN(@BoE)

,

1* IR
* 3

ne Ed&nevr : of is known and is known aterministic
The last expression can be written

inf Gup #[R(A( + c))) -
v2

A spenNin) ↓
only random

Term

We are going to tare2 "Bayesian ,opprach and lower bound

the lost expression by

FearN[RE] ②



We can pick any prior it. We pick a prioro that
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A standard calculation gives that the posterior is
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We have that
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So the final lower bound :
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Yes ! To see this :
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